
1.	 327 people came to watch the Easter parade. 145  
	 of those people were adults. How many kids were at the  
	 parade?

2.	 42 children showed up at the park for the town's Easter 
	 egg hunt. Last year only 36 children came. How many  
	 more children came this year than last?

3.	 Sammy and Julia wanted to put together their Easter  
	 candy. Sammy had 26 pieces. Julia had 18 pieces. How  
	 many pieces of candy did Sammy and Julia have in all?

4.	 The Jones family dyed Easter eggs. 3 of their eggs were  
	 dyed blue, 9 were dyed red, 7 were dyed green, and 5  
	 were dyed pink. How many eggs did they dye in all?

Name: _________________________________________________
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Answer:  _________________________

Answer:  _________________________

Answer:  _________________________

Answer:  _________________________

Solve each problem. Use the empty space to the right of the 
problem to show your work. Write your answer on the blank line 
under each question.
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ANSWER KEY

KH

Word Problems
Level B

1.	 327 people came to watch the Easter parade. 145  
	 of those people were adults. How many kids were at the  
	 parade?

2.	 42 children showed up at the park for the town's Easter 
	 egg hunt. Last year only 36 children came. How many  
	 more children came this year than last?

3.	 Sammy and Julia wanted to put together their Easter  
	 candy. Sammy had 26 pieces. Julia had 18 pieces. How  
	 many pieces of candy did Sammy and Julia have in all?

4.	 The Jones family dyed Easter eggs. 3 of their eggs were  
	 dyed blue, 9 were dyed red, 7 were dyed green, and 5  
	 were dyed pink. How many eggs did they dye in all?

Work Space

Answer:  _________________________

Answer:  _________________________

Answer:  _________________________

Answer:  _________________________

Solve each problem. Use the empty space to the right of the 
problem to show your work. Write your answer on the blank line 
under each question.

182 men

6 more children

44 pieces of candy

24 eggs


